categoryl2_not_vulnerable_exception-selfcomp.imi

Generated by IMITATOR 2.10.4 (build 2477)
Git hash: HEAD/5b53333
Generation time: Tue Feb 26,2019 15:46:25

pta_1

l

[11

epsilon >=cl_ 1]

Parameters Initial
Clocks epsilon Discrete 1 >=epsilon
abs_ptime & epsilon >=0
xnonletters_ 1 & userlnput_length_2 >=0
userlnput_length_1 & userlnput_length_1 >=0
cl1 char_status_1 flac 1 & abs_ptime >= 0
cl_2 xnonletters_2 ﬂag_ &cl2=0
abs_clock userlnput_length_2 ag 2 &cl 1=0
char_status_2 & abs_clock =0

epsilon >= cl_1
setupserver_1
cl 1:=0

\ /

epsilon >=cl_ 1]

§C

-
-~

7

epsilon >= cl_1
readx_1
cl_1:=0

\ J

~

epsilon >=cl_ 1]

~

/ epsilon >=cl_1

( & userInput_length_1 > 10

\

\

N\
N

cl_1:=0

A
[final 1

T rue]

I
|

epsilon >= cl_1
; & xnonletters_ 1 >0

/ cl_1:=0

/

y 4

N
N\

\ epsilon >= cl_1 p
‘' & 10 >= userInput_length_1
' & xnonletters_1 =0 \

\\ cl 1:=0

/
(14

epsilon >=cl_ 1]

epsilon >= cl_1
erifycredentials_1
cl_1:=0

epsilon >=cl_1

]

[

repsilon >= cl_1
' cl_1:=0

[

True

-
-~

7

[
[
+ char_status 1 =0 I
I & cl 1 =1220000 :
[
[

' cl_1:=0

AN
~

~

flag 1=0

~

cl 1:=0
flag_1:=1

G

v -
+

epsilon + 1140000 >=cl

§C

epsilon >= cl_2
& userInput_length_2 > 10

-
-~

7

\

\

N\
N

pta_2

l

epsilon >= cl_2]

epsilon >= cl_2
setupserver_2
cl 2:=0

\ /

epsilon >= 01_2]

epsilon >= cl_2
readx_2
cl_2:=0

\ J

epsilon >= c1_2]

A
[final 1

T rue]

N
\

& char_status_1 =1 | char_status_1 =2
& cl_1 = 1140000

1& cl_1 = 2280000
/' cl 1:=0

/
7/

1 epsilon + cl_1 >= 1140000
I & epsilon + 1140000 >= cl_1
[

| cl 1:=0

\ /

epsilon >=cl_ 1]

(finalZ

|
|
[ epsilon = cl_1

I & abs_ptime = abs_clock

: cl_1:=0

\ 4
T rue]

I
|

epsilon >= cl_2

; & xnonletters_2
/ cl_2:=0

/

y 4

~N
N
N\

\ epsilon >= cl_2
‘' & 10 >= userInput_length_2
\\ & xnonletters_ 2 =0
\ cl 2:=0

v

>0

/
(14

epsilon >=cl_2

epsilon >= cl_2
erifycredentials_2
cl_2:=0

epsilon >=cl_2

—_—
—
—
-
-
-

7
/ char_status_2

' cl 2:=0

AN
~

=0
I & cl_2 =1220000

]
[
repsilon >= cl_2

el 2:=0
|
' 16 | True
flag 2=0 \

|

|

| & char_status 2 =1 , char_status_2 =2
| &cl2=1140000  1& cl_2 = 2280000
, cl_2:=0 I el 2:=0

I flag 2:=1 ,/

G

* _ 7
epsilon + 1140000 >= cl_‘2]

[
1 epsilon + cl_2 >= 1140000

I & epsilon + 1140000 >= cl_2
|

| cl 2:=0

\ /

epsilon >= cl_2]

(finalZ

|
|
[ epsilon = cl_2

I & abs_ptime = abs_clock
: cl 2:=0

\ 4
T rue]




